BA-7674-00/-07 Page: 1

EA ﬁa Mini Teardrop Cover

Custom Accessonies Kawasaki VN1600 Vulcan
“iPErns sﬂ‘f_fi“fmﬁ-ﬂ'}& B
e L —

.. . Our install guides provide a basic outline on the proper installation of our
ReWS on: 11 = 0219/2010 products. Further tuning and/or fitment may berequired. Baron bearsno

responsibility on installation costs associated with this product.

INCLUDED IN THEKIT:

(1) Mini Teardrop Cover (2) M4x10 hex screws
(1) Mounting bracket (2) M4 flat washers
(2) M6x12 button-head chrome screws (2) M4 lock washers

(2) M6 chromeflat washers

INSTRUCTIONS:

Pleaseread ALL of theinstructions BEFORE beginning theinstallation.
We recommend the use of Blue Loctite on all fasteners and mounting hardware.

1. Attach Mini Teardrop Cover to supplied bracket with the M4 screws and washers.

2. Attach mounting bracket to the engine where stock air box was mounted. Use the supplied M 6 button-head
screws and washers.

3. Re-tighten all screws after 50 miles of riding.

NOTE: Thisproduct isintended to be used with a Baron Big Air Kit or other air filter system that removesthe
air filter box from left side of the engine.

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2024 Bar ons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



